KM ZA / Components
No. & ¥ / Part name | 8 / Pcs #E / Material - RELEE / Color-Finish
. _ 1 Javkix)L 1 7 JLEHR A1050P ATHAVYN=TLRAL , AFFA0T 99T W34
* TLRGERDGRICAEYM T TEET, Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
* Adhesive rubber feet in cluded. 2 [yFsE 1 7 ILEAR A1050P YNN=TLRAY , 75997 AR
Rear panel Aluminium A1050P Silver anodized , Black anodized
6 3 [HarIL—4 2 7 LB A6063S-T5 Vs I e
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JOvkIb—L 2 TV A6063S-T5 U 7R
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
2 5 YFIL—L4 2 TIVSHRH A A6063S-T5 YN=TI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 _E#5H/3—/ Top cover 1 $f#R SPCC / Steel SPCC AN - | 7599 / Light gray painted , Black painted
7 T #/3— / Bottom cover 1 $H4R SPCC / Steel SPCC AN V-EEK | 759985 / Light gray painted , Black painted
° 8 [a—r—Jmvs 2 FILEF{F xRk ADCI2 TU-BEE | T EE
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 V724—k 2 HORMEABSHIE UL94V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3L /2 / Rubber feet 4 w19 AL / Polyurethane 7'3v9 / Black
13 1 |BRHFERMAx 6 43) 4 % =ffiyni-+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 HAFTER (M4 x 8 ) 8 &% =Xi//sPEs
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 HAFTE R (M4 x 10 /N1 UF) 4 % =f@Rsni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

w4/ Title

B4k (BUFZEREDO) / Color type (End of product numberd)

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

AEWORT L —R
DESKTOP ENCLOSURE

o]

i85 / Code INA)L / Panel | ETF#H7\— / Top * Bottom cover | A KT —L / Side frame
G < JLsN— / Silver SAMJL— / Light gray 4'L— / Gray
B J5v% / Black 75?9 / Black 75v% / Black
BS 2 JLIN— / Silver J5v7% / Black 754 / Black

#2/Approved

X/ Checked

T

H[X|/Created

A

FI & /Product number

MS199-43-351

RE/Scale

{ERL B /Date 2017/08/29




125

20

20 10

B-B(1:55)

1)72L—L1 / Rear framel

35 A-A(1:55) 17.5 C-C(1:55)

HETi% / Max dim. 194

400 782 hI7L—L1 / Front framel H#~Ti% / Max dim. 325 AR~k / Max dim. 409

)72 —L2 / Rear frame2
350 430

= A

183
182.5

199

6.1

= A

HARIL—1L1 / Side framel 403 HARIL—L2 / Side frame2 400

AV hJL—L2 / Front frame2

i i
o | O
20.6 S/ Title
TAKACHI] BX&#4hFEHITE ALY AT I —Z O]
D D TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
- © - 7FR/Approved | 18 /Checked | #!&/Created | Z1%/Product number RE/Scale
S MS199-43-3501 1:55
£ e 5
ferkE/Date  2017/08/29




02 k/\AR)L / Front panel

B ~i% / Max dim. 183

1)J7 /N4~ )L / Rear panel

B ~ti% / Max dim. 400

A

/N2 JLFKE/Panel Frontside

B%h~Ti% / Max dim.

400

R — Al

B

Surface protective film side

NTF AV AR

BuhtiE / Max dim. 182.5

/\7~)L3RME/Panel Frontside

Hairline brushed direction

e — Al

E—

Surface protective film side

403

s | S — .
— |
I\~ JLEM/Panel Backside
4085

/N7~ )LE M /Panel Backside

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4 /Title

2/ Approved

#&[X/Checked

x

#I[X]/Created

HH

IOUbEIL YT SR O]
Front panel , Rear panel
FF /Product number RE/Scale
H199 — W430 1:3.9
fERE/Date  2017/08/29 8/ 8




317.5

2-@5 4-@45 2-¢4.2
. < ~ i
202 MA| / Front side =) = S
5 15

35

237.5

202 MME| / Front side

169

2-M4

50
5.5

50

11

HARIL—1L1 / Side framel

H AR 7L —12 / Side frame2

S/ Title
BRKHINTFERTE HARTL— L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
2 /Approved #&[X/Checked X /Created FIF /Product number RE/Scale
H199 - D350 14
Es L2 0)
(ERB/Date  2017/08/29 478




30

403

393

R4

2-MARY SR

2-M4 Countersunk

B!
O

o
O

78> kJL—11 / Front framel

o5
O

78> bIL—L2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a4/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

%[/ Checked

T

R/ Created

A

24 /Product number

W430

RE/Scale
1:3

{ERL B /Date 2017/08/29




411

5.5

M4

1)72L—11 / Rear framel

1J727L—L12 / Rear frame2

G/ Title
TAKACHI| #AKHINTFEHIE YFIL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
738/ Approved &/ Checked H[X|/Created #IF /Product number RE/Scale
W430 13
T (320 6/ 8

{ERL B /Date 2017/08/29




6.75

15

319.5

399.5

426.5

A#h~ti%k / Max dim. 409

R4.5

15.5

H#hTi% / Max dim. 2875

12

50

342

35

6.5

w4/ Title
BRKHINTFERTE Fhi— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W430 - D350 14
Es L2 0) 78
{ERL B /Date 2017/08/29




6.75

1.5

3195

399.5

426.5

A~Ti% / Max dim. 409

R4.5

BT % / Max dim. 287.5

12

15.5

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Mm%/ Title
Thi—

Bottom cover

o]

738/ Approved #&[X/Checked X /Created

ES A

24 /Product number

W430 - D350

RE/Scale
1:4

{ERL B /Date 2017/08/29




